FIRIFEATNEENY FAR—IILAS #HHEDE - iR BEBRE> 6A130 (H:AXEZ BHEELS)

HAKHE Ca—MNI I FRMAD sl DA—MT S REE) HAKHE E3—NJ SRl

1 9:40 ~ 959 & | 4-5% il 6 Vs 2 SRS 940 ~ 9:59| LN | 4-5% HA 9 Vs 2 ::pulg 940 ~ 959| 5 | 4-5% | WHTEAS 14 | Vs 3 KiEA
2| 1003 ~ 1022 2 | 4-5% HilT 6 |vs| o HERA 1003 ~ 1022 17| 58 | #WHTEB 8 |vs| 7 =IWARB 1003 ~ 1022| 18 | 58 HEB 6 | vs| 7 WHTEC
3| 1026 ~ 1045/ 19 | 58 | #WHHZED 9 |vs| 2 HilB 1026 ~ 1045 1 | 4B Hilc 7 |vs| 9 WY EF 10:26 ~ 1045| 2 | 4B #HEC 12 | vs| 7 KiEB
4| 1049 ~ 1108 3 | 4B HiD 9 |vs| 3 WHTEE 1049 ~ 1108 4 | 48 #c 7 |vs| 5 HAEB 1049 ~ 11.08| & | 4-5% | =LKL 1 |vs| 15 HA

5| 11:12 ~ 1131 b | 4-5% :pulg 5 [vs| 9 WwHTEA 11:12 ~ 1131 & | 4:5% KA 1 |vs| 6 HilT 11:12 ~ 1131 < | 4-5% Ml 21 | vs | 1 BERA
6| 11:35 ~ 1154 20 | 5% | WHTEB 6 |vs| 7 #B 11:35 ~  11:54| 21 | 5% =1LAB 7 | vs| 12 HEB 11:35 ~ 1154 22 | 58 | W#H~EC 9 |[vs| 18 WH47ED
7| 1158 ~ 1217| 5 | 4B WHTEF 2 [ vs| 15 #HEC 11:58 ~ 12:17| 6 | 48 KB 13 |vs| 2 HilD 1158 ~ 1217| 7 | 48 | #WHYEE 3 [vs| 3 #cC

8| 1221 ~ 1240| 8 | 4B z:pule] 9 [vs| 3 HiLEB 1221 ~ 12:40| 1+ | 4-5% | =KL 1 |vs| 4 P 1221 ~ 1240| Z | 4-5% HA 1m|lvs| 2 WHTEA
9| 1244 ~ 1303 & | 4-5% KA 7 | vs| 1 R 1244 ~ 1303| L | 4-5% Al 3 |vs| 1 HilT 1244 ~ 1303| 23 | 58 HilB 7 |vs| 5 #B

10| 1307 ~ 1326| 24 | 58 WHTEB 5 Vs 9 #EB 1307 ~ 13:26| 25 | 5B =iARB 4 Vs | 18 WHTraEC 13:07 ~ 1326| 9 | 48 WHTEF 3 Vs | 10 KiEB
11| 1330 ~ 1349| 10| 45 HEC 12 [ vs| 2 HiD 1330 ~ 1349| 11| 4B | #¥FH~YEE 6 |vs| 4 HilEB 1330 ~ 1349| 12 | 48 z:pule] 7 |vs| 7 #cC

12| 1353 ~ 1412| ¥ | 4-5% B4 12 [vs| 1 KiEA 1353 ~ 1412 € | 4-5% | WHTEA 2 |vs| 4 HilT 1353 ~ 14:12| % | 4-5% | Z=LUKRA 4 |vs| o BHRA
13| 1416 ~ 14:35| 1= | 4-5% Ml 2 |vs| 7 HA 14:16 ~ 14:35| 26 | 55 | HHSED 18 | VS| 6 B 1416 ~ 1435 27| 58 | WH~EB 6 | vs| 6 HilB
14| 1439 ~ 1458| 13 | 4% KiEB 9 [vs| 3 WHTEE 14:39 ~ 1458| 14| 48 HiID 5 |vs| 5 #c 1439 ~ 14:58| 15 | 48 WHTEF 12 |vs| 5 HilEB
15| 1502 ~ 1521| 16 | 4B z:pule] 7 | vs| 20 #HEC 1502 ~ 1521| 28 | 58 HEEB 5 |vs| 14 W34 ED 1502 ~ 1521 29 | 58 | W~ EC 12 |vs| 4 HilB
16| 1525 ~ 1544| 30 | 58 =IkB 7 |vs| 8 %B
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i HE 6A138 () BHIPRIFFE

A& AD—r(ABEEREAD HErm Ba—h(AE£EALAD
1 930 ~ 1000 1 |63 | #k A |22|vs| 6| % A 930 ~ 10001 2 [6B| K & A [ 7 |VS| 9| MHTEA
2| 1005 ~ 103 & |6x| E W F |12|vS| 1| = W K7 1005 ~ 1030 \» |6k | B @ 7 | 5 |VS| 14| % 7
3 1035 ~ 11001 & | 6% | #k 7 | 4|VS| 3| MHTET 1035 ~ 1100l < |6%| K & 7 |16|VvS| 2 | H &d K 7
4| 1105 ~ 11225 6 |68 | H B F A [ 5 |VvS| 11| H &I E A 1105 ~ 1125 7 |6B| E W A [12|VvS| 3| H I A
5| 1130 ~ 1200 3 |6HE | A |2|vs| 6| = W1 X A 1130 ~ 12000 4 | 6% | % A vs|11| X & A
6| 12056 ~ 1230 5 |6x| B @ 7 |4 |VvS|14| E KW T 1205 ~ 1280 %2 |6k | = W K 7 | 0 |VvS|24| % 7
7 1235 ~ 1300 I+ |6k | K & 7 | 8 |VS| 6 | #k 7 1235 ~ 13000 T |6X | MHALT ET |21|VvS| 2 | H B K 7
8| 1305 ~ 1325 8 |68 | E KN A [12|VS| 9| &F B F A 1305 ~ 1325 9 |6B | H W W A [10|VvS| 5| H I A
9| 1330 ~ 1400 5 |6B| WMHE AT EA |[24|VS| 9| = Wb K A 1330 ~ 1355\ & |6x | B @ F |17|vS| 6| = W K 7
101 1405 ~ 1430 = |6k | K & 7 |2 |VS|8 | MHLTET 1400 ~ 1425 » |6k | E W T | 2 |VvS| 8 | % 7
11| 1435 ~ 1455 10 |65 | ® W A |10|VS|13| H 8 ®E A 1430 ~ 1455 L | ex& | #k 7 |14|vs| 3| H T B 7
12\ 1500 ~ 1520 ¥ |6x| B @ T | 4 |VvS| 12| #k 7 1500 ~ 1520 11 |6 | & & F A [ 6 (VS| 11| H 3 A
13 1525 ~ 1545 12 |6B | X 1% A |[12|vsS|6 | B &I A
XEBFHEHEE8—3—8—3—8. ERI57+9 6 XFHEHE10—5—10. HERI5HET S
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A rFE Ad—~AEEL@E)
1 9:00 ~ 940 & | 6% | % 7 |11|vs| 2| X & 7
2 950 ~ 1030 \» |6 | E W T | 7T |VS| 2| HTET
3 1040 ~ 11201 1 | 65 | #k A |3 |VS|11T| & ®RW A
4 11:30 ~ 1210 2 |68 | MHF 7T EA |24 |VS| 9 H &3 X A
1210 ~ 1250 R BB BF
5 1300 ~ 1340 5 | 6% | % 7 | 5|vs|9 | E AW 7
6 1350 ~ 1430 3 | 68 | #k A |2 |Vvs|14| MAHTYEA
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